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2) modulated by Gaussian Profile
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3) Centered at origin.

4) Probability density KXIX)K has a Gaussian

shope w/ width ofd.
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Gaussian wave packet> minimum uncertainty.
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minimum uncertainty wavepaket.
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so find particle at F in P-space

is becoming very certain. However, now. Nalxis is extended

everywhere in X-space, finding particle in X-space is

becoming extremely uncertain.
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17 For momentum.
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2) For S-function.
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3D . (a* f(x) 8 (x) = f 10 , 0 , 0)

=> S(x) = S(x)S(y)S(z)

=> S(X"- X) = S(X"
-x)S(y"- y)S(z"-z)

=> for n-D space .

6 (f) = S(xi) S(x2) S(Xs)-· S(Xin)

5* Introduction to spin2 system.

5-1. Stern-Gerlach Experiment .
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